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1 Evaluation assumptions
Proposal 1: Link level evaluation assumptions for baseline evaluations for channels in CAS are as follows (change marks with respect to agreed evaluations in TR 36.776:

	Parameter
	Values

	System BW
	10 MHz

	Carrier frequency
	700 MHz

	CP/Numerology
	CAS/SC-PTM15kHz, NCP/ECP: 4.7 us, /16.6us
PMCH: 15kHz/7.5kHz/1.25kHz as baseline. 

	Doppler frequency
	1Hz (rooftop antenna), Up to 120km/h and 250km/h for car-mounted/in-car, up to 3km/h for Indoor

	Reference signal pattern
	For existing numerologies, use existing reference signal patterns as baseline.

	Channel estimation
	Realistic based on RS design

	Channel model
	To be determined from system level evaluations for different ISDs.
TDL-i for NLOS and TDL-v for LOS with the scaled delay spread derived from system level simulations.

	Number of Rx antennas at the UE
	Rooftop: 1 (baseline) /2 
Mobile/car receiver: 2

	MCS/Number of bits
	Fixed MCS, selected by proponentBased on current LTE specifications




Proposal 2: For RAN1#97, companies are encouraged to provide their views on the following items related to CAS evaluations:
· FFT window position;
· Receiving antenna pointing for rooftop;
· Whether the transmission of the CAS is single cell or synchronised in an SFN
· The length of the CP and EI in a synchronised CAS environment.

2 Scope of changes
Proposal 3: Any potential solutions relating to the CAS should seek to preserve the existing numerology. The enhancements (if needed) for channels and signals in the CAS are built upon current channels and signals.

3 Modelling of pathloss

Proposal 4: For the evaluation of CAS, RAN1 to adopt a pathloss model that captures the following:
1. Cell reselection procedure (i.e., the UE may select the serving cell depending on the actual pathloss)
2. Time variation of pathloss (i.e., the fact that the pathloss is not constant for a given location)
Note that 50/50 does not capture 2), and 50/1 does not capture 1).
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